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3/5 +2/5 = (2D 5.43 -1.31= (3D .23 (4.) 720780  Gr 4 p.24

X 2
Complete: 60/91 = + 60/91
(Ej) Which is a line? -1
;Y/////'% G%\\\‘
A B C D E H
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4.08 + .06 = (2 15/16 - 8/16 = @D 2.3 x3= (4 64) 2005

<:> Write the following in the simplest way:
(8 x 1000) + (6 x 100) + (3 x 1)

How many endpoints does a line have?
123 :

6/25 + 8/5 = 2,) 37.1 = 5.6 = (. 62.3 x 2 (4.) 7603380 =

<j> How much money is 2 dollars, 5 quarters, 6 dimes, and 3
nickels? If this enough to buy a Micheal Jackson tape?

i Use <, >, or = 3,986 4,006
1.206 + (Z) 13/8-1158 = () 0.532x .3 (@) 13) 657

8.668 =

(::) What number makes all three sentences true?

6 x = 18 40 - 37 = +2=75
8 x[J= 72
125
1 4/5 + 4 1/2 = (2) 391.68 - B 4/5 x 4/6 4) 726+9 =
265.4 =

(j) Find the perimeter
' b

which are rays? E 71
S A A H
— v w F
R B C D
£ G
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.064 + 1.641 = (:) 25/36 - 14/36 = 3.) 32.24 x 6 =

- 84)9572 Ci) Almo had 62 to start, and then bought 21 more, and then

sold 58. How many were left?

How many endpoints does a ray have?




